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#define NDEBUG '

#include <assert.h>

#include <stdio.h>

#include <stdlib.h>

#include <string.h>

#include <time.h>

#define Max_car 1000

#define Max 128

#define Max_size 16384

#define Rock 2
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#define Gotten 4

#define Bad 1

#define Left 1

#define Up 2

#define NoDirec 4

#define Max_clock 330 -

clock_t start ;

intb ncar, nrow, ncol, rowrock[Max], pathlen ;

char map[Max][Max], path[Max_size] ;

- void Getdata(void)

{
FILE *fi;
intr, ¢, k;
fi = fopen("mars.dat", "r") ;
assert(fi) ;
fscanf(fi, "%d", &ncar) ;
fscanf(fi, "%d", &ncol) ;
fscanf(fi, "%d", &nrow) ;
for(r=0; r<nrow; r++)
for(c=0; c<ncol; c++) {
fscanf(fi, "%d", &k) ;
mapl[r][c] = (char)kb;
}
fclose(fi) ;
h

void OutputPath(int car)

{

_int i, direc ;



static FILE *fo=NULL ;
if(fo) {
fo = fopen("mars.out", "w") ;

assert(fo) ;

if(car==0) return ;

for(i=pathlen-1; i>=0; i--) {
if(path[i] == Left) direc =1 ;
else if(path[i] == Up) direc =0 ;
else assert(0) ;
fprintf(fo, "%d %d\n", car, direc) ;
b}

void Solve(void)
{
inf getnum[Max]{Max], r, ¢, car, nextr,
nexte ; |
int mr[] = {0, 0, -1} ;
int mc[] = {0, -1, 0} ;
char direc[Max][Max] ;
1/ AR — K
for(car=1; car<=ncar; car++) { «
for(r=0; r<nrow; r++) {
memset(&getnum[r][0], 0,
sizeof(int)*Max) ;
memset(&direc[r][0], O,
sizeof(char)*Max) ;

FAENWDFERE RART EHRFXEATH

direc[0][0] = NoDirec ;
/I BB R R EERSE AN
path » FHYZE Dynamic Programming
for(r=0; r<nrow; r++) {
for(c=0; c<ncol; ct++) {
if(map[r][c] == Bad) continue ; v
getnum[rj[c] =0 ;
if(r > 0) {
if(map[r-1][c] != Bad && direc[r-1][c]) {
getnum|r][c] = getnum[r-13}{c] ;
direc[r]{c] = Up;
b
if(c > 0) {
if(getnumfr][c-1] > getnum(r][c]
|| tdirec[r][c]) {
if(mapl[r]{c-1] = Bad && direc[r][c-1]) {
getnum[rj[c] = getnum[r][c-1] ;
direc[r][{c] = Left ;
Yooy 3
if(map[r][c] == Rock)
getnum[r][c]++;
bl
if(direc[nrow-1][ncol-1] != Left &&
direc[nrow-1][ncol-1] != Up) {
#ifndef NDEBUG
printf("No Path\n") ;
#endif
break ;
}
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pathlen=0 ;
for(r=nrow-1, ¢=ncol-1; r!=0 || ¢!=0;) {
if(map[r][c] == Rock)
map[r][c] = Gotten ;
path[pathlen++] = direc[r][c] ;
nextr = r+mr{direc[r][c]] ;
nextc = ¢tme[direc[r}[c]] ;
T = nextr ; '
¢ = nextc ;
3
OutputPath(car) ;
if( (clock()-start) > Max_clock)
exit(0) ;

int main()

{

start = clock() ;
Getdata() ;
pathlen =10 ;
OutputPath(0) ;
Solve() ; '
fcloseall() ;

return 0 ;

}
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#define NDEBUG -
#include <assert.h>
#include <stdio.h>
#include <stdlib.h>
#define Max 32
#define Eaten 1
#define Disable 2
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#define Degree 1

#define Eat_f2 .

#define Move f1

int bx, by, bz, nowx, nowy, nowz ;

int lasteatx, lasteaty, lasteatz, final ;

char state[Max+2][Max-+2][Max+2] ;

FILE *fo ;

void Getdata(void)

{
FILE *fi;
fi = fopen("toxic.dat", "r") ;
assert(fi) ;
fscanf(fi, "%d", &bx) ;
fscanf(fi, "%d", &by) ;
fscanf(fi, "%d", &bz) ;
fclose(fi) ;

}

void Eat(int x, int y, int z)
{
fprintf(fo, "E %d %d %d\n", X, ¥, Z) ;
state[x][y][z] = Eaten ; .
lasteatx = x ;
lasteaty =y ;
lasteatz =z ;

final = Eat_f;

void Move(int x, int y, int z)

{ _
fprintf(fo, "M %d %d %d\n", x, y, z) ;
NOwWX = X, NOWY =y, NOWZ = Z ;
final = Move f;

int CanEat(int x, int y, int z)

{

int face=0 ;

if(state[x][y][z]==Eaten) return 0 ;

if(x>1 && state[x-1][y][z]==Eaten) face++ ;
if(y>1 && state[x][y-1][z]==Eaten) face++;
if(z>1 && state[x][y][z-1]==Eaten) face++;
if(x<bx && state[x+1][y][z]=Eaten) face++;
if{y<by && state[x][y+1][z]—=Eaten) face++;
if(z<bz && state[x][y][z+1]==Eaten) face++;

return face <=1 ;

void Eatadj(void)

{

if(nowx > 1 && CanEat(nowx-1, nowy, nowz))
Eat(nowx-1, nowy, nowz) ;

if(nowy > 1 && CanEat(nowx, nowy-1, nowz))
Eat(nowx, nowy-1, nowz) ;

if(nowz > 1 && CanEat(nowx, nowy, nowz-1))
Eat(nowx, nowy, nowz-1) ;

if(nowx <bx && CanEat(nowx+1, nowy, nowz))

Eat(nowx+1, nowy, nowz) ;

iflnowy < by && CanEat(nowx, nowy+1, nowz))



Eat(nowx, nowy+1, Nnowz) ;
if{nowz <bz && CanEat(nowx, nowy, nowz+t1))
Eat(nowx, nowy, nowztl);

}

int AdjCanEat(int x, int y, int z)

{
int face =0 ;
if(x>1 && CanEat(x-1,, z)) face++;
if(y>1 && CanEat(x, y-1, z)) facet+;
if(z>1 && CanEat(x, v, z-1)) face++;
ifix<bx && CanEat(x+1,y, z)) facet+;
ifly<by && CanEat(x, y*+1, z)) facet+ ;.
if{z<bz && CanFat(x, y, z+1)) facet+;
return face ;

}

int Eatnum(int x, int y, int z, iﬁt depth)
¢
int max ;
char record = state[x][y][z] ;
if(state[x][y][] = Eaten) return 0 ;
if(depth >= Degree) { ‘
max = AdeanEat(x, Y, Z);
}
state[x][yl[z] = record ;

-return max ;

int FindMove(int *px, int *py, int *pz)

{

2 REQWDFB B R R T TR

intmax=0, f;
if(nowx>1)
if{ (F=Eatnum(nowx-1, nowy, nowz, 1)) > max)
max = f, ¥px=nowx-1, *py=nowy, *PZ=NOWZ ;
if(nowy>1)
if{ (f=Eatnum(nowx, nowy-1, nowz, 1)) > max)
max = £, *px-nowx, *py=nowy-1, *pz=nowz ;
if(nowz>1)
if{ (F=Eatnum(nowx, nowy, nowz-1, 1)) > max)
max = f, ¥px=nowx, ¥*py=nowy, *pz=nowz-1 ;
if(nowx<bx)
if{ (F=Eatnum(nowx+1, nowy, nowz, 1)) > max)
max = £, *px=nowx+1, *py=nowy, *pZ=NOWZ ;
if(nowy<by)
if( (F=Eatnum(nowx, nowy+1, nowz, 1)) > max)
max = f, ¥*px=nowx, *py=nowy+1, *pz=nowz;
if(nowz<bz)
if{ (fF=Eatnum(nowx, nowy, nowz+1, 1)) > max)
max = f, ¥px=nowx, *py=nowy, *pz=nowz+1;

return max > 0 ;

void Solve(void)

{
int found, X, v, Z ;

// initial ¥4k
fo = fopen("toxic.out", "w");
nowx =nowy =nowz =1
Eat(1,1,1);

“Move(l,1,1);

while(1) {
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Eatadj() ; ’
/I Bl Greedy Method #}E[Hf— move 28
g
found = FindMove(&x, &y, &z) ;
if({found) break ;
Move(x, vy, z) ;
4 } ‘
N ERB—E@4 R Eat, HIFE Move 3
RR—EME
if(final == Eat_f)

Move(lasteatx, lasteaty, lasteatz) ;

3

int main()

{
Getdata() ;
Solve() ;
fcloseall() ;

return 0»;
}
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41-50 5 130+ 226 5882
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61-70 17 163 769 17376

71-80 14 177 6.33 80.09
81-90 28 205 12.67  92.76
91-100 16 221 7.24  100.00
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